b2 2k - MIBER T/ 74 TR ey /80
BHEFEOH O e
BB FEOMEZEALR I,
® 1.20 - 3 Hr @ 2.5 - 2 M1
©) 0.3 - I MT ® 0.020 - 2 M1
® 1.0050 - 5 MT ® 0.003 - I M1
@ 0.2000 - 4 MT 10.20 - 4 M1
@ 0.0100 - 3 MT 0.013 - 2 M1
RO EIREIN-AMERFETELEIY, ( BBEH > 2.1X103 )
0 802564 2 Hr ) 80 X 10 °
3 M ) 8.03 X 10 °
@) 57180 2 M1 ) 57 X 10 °
3 M1 ) 572 X |0 °
® 4005000 | #T ) 4 X 10 °
4 M7 ) 4.005 X 10 °
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{LZEBE - YR T/ 7+ TR Bk /80
BHBREOH  © e
BB FOMEEALR T,
® 0.040 - 2 M1 @ 0.8000 - 4 M1
@ 82.2 - 3 M1 @ 5,500 - 4 M1
® 9.0000 - 5 M1 ® 0.006 - I M1
@ 2 - I MT 7.8100 - 5 MT
@ .20 - 3 M1 0.013 - 2 M1
ROBEREINZBNBERFTELRIV, ( BEH > 2.1X103 )
® 567800 | M7 ) 6 | O
3 #1 ) 5.68 | O
@ 60050 3 M1 ) 6.0 | | O
2 #Mr ) 6.0 | O
® 4860740 4 M7 ) 4.86 | | O
3 #1 ) 4.86 | O
O MR S >0 — R TEE Y, https://monomana bi.co.jp Czwdmr (Bx)
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L2 - Mm i T/ 74 =R B /100

BB FEDHT © 104X 10

RDBERREINEBNERF THRLEI,

m

N X 10 NDETETZY, A > 2.1%103

0.004866 ( 2 #1 ) 4.9 x 10 ~°?
( 3 #H1 ) 4.87 X 10 ~°

125.205 ( 2 #1 ) 1.3 X 10 *

( 3 #H1 ) 1.25 X |0 2
0.000672 C 1 # ) 7 X 10 ~“
( 2 ¥ ) 6.7 X |0 ~*

50.65 | ( 4 #7 ) 5.065 X 10 '

( 2 #7 ) 5. | X 10 '

X FNENXI0DAHTHLWN

0.073160 ( 3 #H1 ) 7.32 X |10 "2

. ~ 2
(2 #1 ) 7.3 %X 10
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L2 - Mm i T/ 74 =R B /100

BB F DT @ 10510

RDBERREINEBNERF THRLEI,

m

N X 10 NDETETZY, A > 2.1%103
0.000156 ( 2 #H1r ) 1.6 X 10 ~°
( 3 #1 ) 1.56 X |0 ~ %
4800.5 ( 2 #1 ) 4.8 X 10 °
( 3 #F ) 4.80 x 10 °
0.090060 C | # ) q X 10 ~°?
( 2 ¥ ) 9.0 X 10 "2
2076550 ( 2 #H1 ) 2.1 X 10 °
( 4 #1 ) 2.077 X 10 °©
0.001918 ( 3 #1 ) 1.92 x |0 8
( 2 #7 ) 1.9 x |0 3
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